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EA: HMSAEAE A
M HSMY 84
ool MBAL 29 (s & &
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hl =2
HSAE A A 11,202,061 6,921,433 4,280,628
2 1,700,000
pJ 1,610,300
[ 1,088,397
= 6,803,364
MY 24 8,641,574 3,493,124 5,148,450
2 1,700,000
pJ 1,500,000
[~ 1,000,000
= 4,441 574
HESANE 29 2,341,574 2,051,896 289,678
HSAE 22 676,574 571,896 104,678
101 Q14 8,668 0 8,668
04 JIZHE2ZREES 8,668 0 8,668
OFAESRA AYEX AH(H2I]) 7.668
L= 35,500 «3% 60 6,390
— =Xt 35,500 «3% » 12 1,278
o1l 24| 200,000 x5 1,000
201 L2 YH] 627,906 526,396 101,510
01 AFRZ2lH] 37,110 28,750 8,360
Odet=2H| 32,700
—AUN=2 225 2
1,800,000 122 21,600
—2sd St&EA =
50,0002 « 1500 A+ 122 9,000
—232 232 DA NIE 30,0002 %5004 1,500
—gst el Xt 2 120, 00024 %500 A& 600
o=l 7,000 x7H 90 4,410
02 222ZH| 590,796 497,646 93,150
02222 2 HAM 274,656
—HI)Q2(ALHMSZL 7HA)
16,000,000 x 122 192,000
— A= ER2(AUNSZA 404A)
2,450,000 122 29,400
—SANNH LS (AUMS22 50HA)
1,400,0002 23] 2,800
—S4, g4 AZS(AUHMSEL 40HL)
300,000 * 122 3,600
—dI|tE eI (ALHM S22 3HA)
1,350,000 122 16,200
—AgAH & (AUHMS2 200A) 1,800
— 20 HotAY| 29H|(AUAMS22 11A)
750,000 x 128 9,000
—dYyHIoE 22 EGH(AUHAHSZ)
130,000 * 122 1,560
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—ASYAH(AUM=S22 11L)
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574,000 x43] 2,29
—4FE S AAH 350,0009! 43 1,400
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OHAESHE AR F - 24|
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OAZ=lt3 £&=+ &F 5,000, 000& 23] 10,000
O&EA&LFE Fl 200,000
ORsHsMH Z4RF AXEC] 24 (A=834.
2m) 50,000
HENSAIEEH| 105,000 220,000 A 115,000
401 Al&HI LSO 105,000 220,000 A 115,000
01 Al&H| 105,000 220,000 A 115,000
S% 2O0IM=sAE EX € HES 50,000
OMsSAE B248X(5M2) 30,000
OXZ0tE S2SAME &X 10,000
Odd HAOESH HES 15,000
SSHEAE &5 6,300,000 1,130,000 5,170,000
= 1,700,000
Il 1,500,000
= 1,000,000
= 2,100,000
AMEHEISE &4 2,100,000 300,000 1,800,000
& 1,100,000
= 1,000,000
401 Al&HIZL=ROHYI 2,100,000 300,000 1,800,000
& 1,100,000
= 1,000,000
01 AlZHI 2,095,460 300,000 1,795,460
OFHMENSSE &4 2,095,460
= 1,100,000
i 995,460
03 A&Z20HYI 4,540 0 4,540
OFHMENSSRE =4 4,540
Ols842sd =4 1,600,000 500,000 1,100,000
= 600,000
i 1,000,000
401 Al&HI YL S OHYI 1,600,000 500,000 1,100,000
= 600,000
= 1,000,000
01 Al&HI 1,596,561 500,000 1,096,561
Ollss&d=2sd =4 1,596,561
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03 AIZ 204l 3,439 0 3,439
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goflz =8 MsdH 1,500,000 0 1,500,000
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207 AN 100,000 0 100,000
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ONEX +g 4500002 +72 x33| 9,450
= 2,835
2 6,615
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301 YsrEAS 40,000 46,000 6,000
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02 HSZUSKIS 40,000 46,000 6,000
OmsZ X 500,0002 *4024 23] 40,000
= 40,000
SAMS X 136,800 101,600 35,200
307 212H0I 96,800 61,600 35,200
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M- BB Sl (B) - HIRAY - Ba S sk oy e 2
O&LI=2sE YHEHI 20,000
O&b=zsd HEII 15,000
HE2ALU (MSAIEASE L) 344,125 350,522 26,397
A2 291,060 287,852 3,208
HA2ZH(MEALE) 178,371 19,621 158,750
01 bl 178,371 19,621 158,750
03 RIAHAZZHE = 178,371 19,621 158,750
OFAESHE JAMY), AXZ=mI22(2
) 56,585
—Jl=2 34,9103 »3H 249 26,078
—&a0= 8,750,000 x32H x1/3 8,750
—F=5g¢=sE 34,9103 3 +116Y 12,149
—EI25<(5H014) 3,500 *3H #2502 2,625
—AlZtel 2Rag
6,570 *3H x(10Al 2tx 128 +18Al 2H+ 128 ) 6,623
—F A A G 30,0003 x1E*12& 360
OBAULHRA(3Y), RUBB (1Y), £ F (13
) 91,986
= 34,9103 x5 249 43,463
—&0= 8,250,000 x5H *1/3 13,750
— e 34,910 x5H 116 20,248
—&AJI2ESY(5E014)  3,3003x5H 2502 4,125
—ARE 2R
6, 1902 x5+ (10Al 2t+ 122 +18Al 2H+ 128 ) 10,400
O 1= E=) 40,000 x3H «12& 1,440
O=4a 22| 130,000 x8H 12 12,480
QusE=xH] 130,000& 8H 12 12,480
OZ A W= 100, 000& 23| 200
OZ 2SIt 200,000 8 »23| 3,200
IHESHH(AXZ=OIHEE) 112,689 145,829 A33,140
101 Q14| 112,689 145,829 233,140
03 RIIHAZZ X2 = 112,689 145,829 N33, 140
O&bizsd 2l 112,689
=22 35,0003 x5H 249 43,575
—a0= 8,750,000 x5 x1/3 14,584
—F=5g¢sE 35,0003 x5 *116Y 20,300
—fgsE 40,000 x5 H 122 2,400
=125 (5401 4) 3,500& «5H +2502 4,375
—AZte 222 (&I 35,0009)
6,570 5% «(10Al 2H+ 122 +15A1 2H+ 128 ) 9,855
—= 42Xl 130,000& «6H «12& 7,800
—us2 x| 130,000& x5 123 7,800
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—JESOtd| 200, 000& x5 #23] 2,000
=224l 53,065 62,670 A9,605
JI2dl(MsSAEE) 41,065 18,220 22,845
201 Let2d| 10,925 0 10,925
01 AFR 22| 10,925 0 10,925
O2N2E Let=ZH| 750,000& *12& 9,000
O2N2Z ==l 7,000 x 11 254! 1,925
202 O4Hl 25,500 13,500 12,000
01 =Wl 25,500 13,500 12,000
O2NM2Z ol 6,000
O=Uo0dbl
(20,0002 7= 1502 )-(10,000& * 1 *1502! ) 19,500
203 HRF&H| 4,640 4,720 A 80
02 HANMTRF=EHI 440 520 A80
(OFSEDIF, 40,0003 11 440
04 FN2ILRFAHI 4,200 4,200 0
ORM2Z 350,000& «12& 4,200
I2ZH(AZ=0IHEE) 12,000 12,000 0
202 O4Hl 12,000 12,000 0
01 =Yl 12,000 12,000 0
O=UWH bl 20,000 x4 H 150 12,000




